[Whag.’v-o;l'll LearnJ

Scawm the lessow. List two headings you would use +o make am
outline of the lessom.

» The Proof Process Complete the graphic organizer by matching each situation with
the type of reasoning used.

» Two-Column Proofs Every time Bill watches his
Pavorite team ow television, the
teawm loses. So, he decides to

wot watch the team play on TV,

{ 5
DedAuctive
Reasoning

I ovder to play sports, you need

to hawve a B average. Simom has

a B average, so he concludes
he cam play sports.

All triamgles have 3 sides and
3 angles. Maviah has a Figure
with 3 sides amd 3 amgles, so it

must be a triangle. e

Reasoning

After performing a science
expeviment; LaDell coucludea
that ouly 807 of tomato seeds
would grow into plamts.




p» The Proof Process

Step 1 List the given information, or what you F _ h
know. If possible, draw a diagram to \ Given )
* illustrate this information. Y
Step 2 State what is to be proven. Bysotiusli
Iv N
Step 3 Create a deductive argument by forming a ( Statements and
logical chain of statements linking the Reasons J
given information to what you are trying :
to prove.
| Step4 Justify each statement with a reason. :
Reasons include definitions, algebraic Y
properties, and theorems. (
Prove ]
Step 5 State what it is you have proven. | Conclusion)

#




1. Thediamondback
rattlesnake has a
diamond pattern on its
back. An enlargement
of the skin is shown. If
mZ4Z1=m/4A4, write a
paragraph proof to show
thatmZ2 =m43.

Given: mZ1 =mZ4
Prove: m/Z2 =m/Z3

Proof: mZ1 = m£2 because they are vertical angles. Since
m4£1 = mZ4, m£2 = mZ4 by substitution. mZ4 = mZ3
because they are vertical angles. Since m£2 = mZ4, then
mZ£2 = m43 also by substitution. Therefore,
m42 = m43.



(Gol- I+? Do this problem to find out.

a. Refer to the diagram shown.
AR = CR and DR = BR.
Write a paragraph proof
to show that
AR + DR = CR + BR.

Given:AR= SR and
DR=_BR

Prove: AR + DR = CR + BR.
Proof: You know that AR = CR and DR = BR.

AR + DR = CR+ DR by the Addition _ property of
Equality. So, AR + DR = CR + BR by substitution




[ Example a

2. Write a two-column proof to show that if two
angles are vertical angles, then they have the 1 3
same measure.
Given: lines m and n intersect; Z1 and /3 are vertical angles
Prove: mZ1 = m43

Statements Reasons
a. lines mand nintersect; Given Linesr Pair
Z1 and £3 are vertical angles. Alnenr poir of anglesis
b. Z1and £2 are alinear pair Definition of linear pair paiir of adjacent amgles
and Z3 and Z2 are a linear ||  formea by intersecting lines.
pair.
€. mZl+ms2=180° Definition of supplementary
mZ3 +mZ2 =180° angles
d mAl+mL2=msL3 +mL2 Substitution
e. mAl=m4L3 Subtraction Property of
Equality




